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TAURANGA GIRLS COLLEGE

Name: ______________
YEAR 9 HOMEWORK SHEET





Series B
Sheet 1

Due Date: ________
TGC Values: Respect, Participation, Pride


KEY SKILLS:
1. In the number 56.34 what digit is in the tenths column? ______

2. Write 0.6 words
________________

3. Round 2.34 to the nearest tenth
_​​___​​​​​​_________

4. Insert < or > to make it a true statement:
4.6  ​​​____  4.1
5. Calculate 2 cubed  = ______

6. List all the factors of 18

__________________

7. Calculate   12 + 16 ÷ 2

__________________ 
8. Calculate   
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9. Complete this equivalent fraction:
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10. Write 0.9 as a fraction = _____
11. 4 cm  = ______ mm
12. What is the perimeter of this shape? ______cm
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13. What is the area of a square of side length 8m?______m2
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14. Name this 

shape


___________
15. The total number of goals scored in 10 soccer games  was recorded:

0, 1, 1, 2, 2, 3, 3, 3, 4, 5

What was the median number of goals scored?


________________________
Key Skills Total: _____  / 15
CURRENT WORK:

1. [image: image9.png]


Give the point which is:

a. Northwest of E
b. Northeast of B

What is the bearing of:

c. E from A

d. F from A

e. C from D

2. Circle the numbers in this list that are integers:



3,   0.3,  
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 ,  -6,  0

3. Which is the bigger number
–2 or –5?

4. True or false? 
a)  –5 < 8


b)  –7 > –9


c)  0 < –3

5. Put these integers in order from biggest to smallest

–2, –3, 7, –5, 0

6. The temperature was –8(C, what would it be if it:

a) fell 5(


b) fell 20(
c) rose 17(
7. What are the values of the points marked on the number line below?

A = ________
B = _________
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APPLICATIONS AND PROBLEM SOLVING

These questions use the Problem Solving Skill Guess and Check
1. What two numbers have a difference of 5 and a sum of 19?

Working:
Guess#1

Try 10 and 5

Difference: 10 – 5 = ……………

Sum: 10 + 5 = ………….



So 10 and 5 is / is not the answer. 

Guess#2

Try 11 and 6 

Difference: 11 - ………. = ……………

Sum: 11 + …………. = …………….



So 11 and 6 is / is not the answer

Guess#3

Try 12 and …………

Difference: 12 - ………. = …………

Sum: 12 + ………… = ………….



So 12 and …..  is / is not the answer

Answer:  The two numbers have a difference of 5 and a sum of 19 are ………. and  ………..
2. Two numbers multiply to make 48 and add to make 14. What are the two numbers?

Step 1: Write down all the pairs of numbers that multiply to make 48. 
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1 x 48 = 48


2 x 24 = 48


3 x …….. = 48


4 x ……… = 48


6 x ………. = 48


Step 2: Add each pair up to find which pair sum to 14. 


1 + 48 = ………..


2 + 24 = ………..


3 + ……….. = ………….


4 + ………….. = ………….


6 + …………. = …………..

So the two numbers that multiply to make 48 and sum to 14 are ………….. and …………

3. Place the number 1, 2, 3, 4, 5, 6, and 7 in the circles.  
Make the sum along each line equal to 13.  
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Use each number once only. 
Some numbers have been put in for you
Working:

Applications and problem solving Total: ______ / 6
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The pairs of numbers that multiply to make 48 are: 


1 and 48 			4 and ……….


2 and 24 			6 and ……….


3 and ………..
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